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x2-1 & E:S

(HATL : kg)
IW  6W  13W  6-1W 13-6W 13-1W
BHTK T 28.8 53.7  92.8 248 39.2 64
m=6) SD 51 7.4 10.3 4.2 44 7.4
HIBRX S 29.3 55.7 100.5 26.3% 44.8" T1.2A
m=6) SD 59 1.3 16.2 9.2 6.5 126
FERK T 314 46.3  82.6 14.9" 36.3" 51.1B
=7 SD 44 6.7 88 54 3.1 6.4
ZERKX ¥ 30.3 47.3 83 17.0 35.7" 52.7B
m=6) SD 1.5 58 9.2 65 59 0.1

(A—B<0.01, a—b <0.05

x2-2 & =

(BAT - em)

IW  6W  13W  6-1W 13-6W 13-1W
BTX F 683 T7.2 87 8.8 9.8 I8.7
(m=6) SD 2.6 3.6 3.9 20 L9 23
FIEX Sty 67.3 77.3  87.2 10.0% 9.8 19.8"
(n=6) SD 3.6 3.9 36 25 0.8 25
ERK FH 6.7 4.9 85 .1 1001 173
(=7 SD 24 3.6 31 24 21 27
ZRK FH 68.8 5 83.8 6.2 8.8 150"
(m=6) SO L7 21 25 L6 L0 24

(a—"Db <0.05)
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®2-3 ]

(HAL © cm)
Iw 6w 13W  6-1W 13-6W 13-1W
BIFX T 66.0 83.2 101.2 17.2AD 18  35.2A
(m=6) SD 3.5 5.0 1.6 2.8 2.7 3.1
HIFRR S 67.3  85.0 103.3 17.7AB  18.3 36.0A
(m=6) SD 4.3 6.1 6.2 2.8 2.3 2.6
FEEX P 68.4 80.0 96.3 11.6C 16.3 27.9B
m=7 SD 41 3.8 3.9 4 1.3 3.9
ZARIX SFEg 66.2 78.3  95.3 12.2D 17 29.2B
(mn=6) SD 2.4 4.8 4.6 2.6 2.7 3.1
(A—=B<0.0D
®2—4 B OB i)

Iw  6W I3W 6-1W 13-6W 13-1W,

BT FH 648 85.3 114.2 20.5 28.8 49.3
(m=6) SD 41 56 3.9 49 3.8 538
HIBRIX SEYS 65.5 92.8 116.7 27.3" 23.8 51.2
(m=6) SD 3.7 82 6.4 53 3.1 3.8
ERX EY 66.6 85.6 112 19.0° 26.4  45.4
=7 SD 3.6 5 6.8 4.7 4.9 4.5
LEKX FH 627 84.2 109.5 2.5 25.3  46.8
(m=6) SD 2.9 3.3 68 31 89 82

(a—Db <0.05)
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x3 FAHEDRE

(AL @ kg)
X7 TR R FHLAR B
EIX 7.1 £ 16.9 22.2 + 7.9
T RIX 8.9 = 7.9 20.7 + 12.5
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HEFLIX (n = 8) HIBRIEFLX (0= 7)

L H 2 - 3.9 £ 1.2 -
FIEHESRE H 42.0 + 18.8 6.3 £ 6.9 19.1 £ 7.0
1 — 2 [al H HrOnF b 13.5 + 2.1 10.2 £ 1.6 19.5 £ 6.4
CIEERIASE 55.3 + 248 20.4 £ 6.4 3.3 = 8.6
TEmIE HE 26.0 + 3.2 27.5 = 5.6 21.2 £ 6.3
FEA T HE - 39.5 £ 8.1 3.0 = 8.2
FRICEL/=HE - 46.5 £ 18.6 47.0 = 5.8
1.3 £ 0.5 1.6 £ 0.8
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